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20,816
20,816
0 222 925, 144,000 *3. 12/100 28,865
14,432
14,433
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190,000& x2&+ 123 4,560
2,280
2,280

Mo

160,000& x 158 » 123 28,800




A AdnsSht
M C2AA
ol 2EH0 E2a7e EER=E)
SA - B S9I(B1) - KIRA - ol b e HlmS2
= 14,400
= 14,400
0 ZFSE(BHE) 334, 7602 x2H* 12& 8,035
& 4,017
i 4,018
0 =HE(BHA) 50,000 =128+ 12& 7,200
= 3,600
= 3,600
0 E&04HI 300,000«3F*12& 10,800
& 5,400
= 5,400
g 20w A4 5,000,000 0 5,000,000
= 2,500,000
& 375,000
= 2,125,000
401 AlEHIZ 200 5,000,000 0 5,000,000
= 2,500,000
= 375,000
= 2,125,000
01 Al&HI 5,000,000 0 5,000,000
0 g=20i A& (L=350m) 5,000,000
= 2,500,000
= 375,000
= 2,125,000
AT XHHTHOH |IE X ZHIANY 1,200,000 1,550,000 A350,000
s 600,000
= 300,000
= 300,000
401 A& HILS0HY| 1,200,000 1,550,000 A350,000
s 600,000
& 300,000
i 300,000
01 Al&HI 1,200,000 1,550,000 A350,000
0 &otd = AFHAMoH?IE HE X+ ZHIAIY 1,200,000
s 600,000
& 300,000
i 300,000
SAIHE 27 X2 441,559 441,559
101 2124l 41,559 41,559
M IIRHMZ2Z2XSE+ 41,559 41,559
0 JI2HH22NESES
76,9603 *3H 180 41,559
401 AIEHIZL 200 400,000 0 400,000
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FAN AZUSH
M E2H4
ol 2EH0 E2a7e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 400,000 0 400,000
0 SAHEEZ HUIAY 100,000
0= 2= Fdl 100,000
0 Xt Al 100,000
0 =2 Hi=7x= &H| & W2+ 100,000
KSR A 400,000 0 400,000
= 200,000
s 200,000
401 Al HIZ 01| 400,000 0 400,000
= 200,000
Ea 200,000
01 A28l 400,000 0 400,000
0 ots TAIHEZZ2(S21-103) HE S AHL=210
m) 400,000
== 200,000
o 200,000
CERA 2428 sEE 7Y 40,000 0 40,000
405 AHaHE S 40,000 0 40,000
01 AL =S F = 40,000 0 40,000
0 E2FA2cE sER+Y 40,000
XA WS SZIHH (HEALY) 200,000 0 200,000
= 100,000
Ea 100,000
401 AlZHIZ S OHbI 200,000 0 200,000
=S 100,000
s 100,000
01 AlZ8| 200,000 0 200,000
0 A nsSet&sZ A 200,000
[ 100,000
Ea 100,000
ETZ PN AL (HEALY) 2,730,000 0 2,730,000
= 2,290,000
o 440,000
401 A& HIX R0 2,730,000 0 2,730,000
= 2,290,000
o 440,000
01 A28l 2,730,000 0 2,730,000
0 FIEE2E 220 At 2,730,000
== 2,290,000
o 440,000
nNSEsHEF 8,472,806 10,465,904 1,993,098
= 196,285
= 245,800




FAN AZUSH
M NSEaEH
Sl WSTI EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 37,977
s 7,658,744
usdd 7,582,131 9,097,664 1,615,533
= 196,285
[ 245,800
= 121,977
Ea 7,018,069
SrgMdRIt2EsS X 1,500,000 1,500,000
307 gl2to| & 1,500,000 1,500,000
B 2=gHEXS 1,500,000 1,500,000
0 = . 6ANSA FIIEX= 1,500,000
=X HE 171,039 58,512 112,527
101 e124d| 53,189 25,618 27,571
M ORNZZ2NSE S 53,189 25,618 27,571
0 =FXS 53,189
oJles 76,9603 x22H +2483 38,173
0 FRESE 76,9603 x2& +523] 8,004
o ElreReY+E
76,9602 x2& x113] 1,694
07 228 76,9602 x2&H »302] 4,618
o =4 175,000 x4 700
201 er23| 17,850 12,894 4,9%
01 AtR2t2|HI 3,180 3,180 0
0 &et=SH| 3,150
0 == & MY LA g3 2,100
o B AEIA 420
o &t H0 M 630
2 s5=34l 14,700 9,744 4,9%
0 AI&3HISAIHl CCTV 625,0002* 16H 10,000
0 MEHE DXNMES SER 3,500
0 =EXERE S 300,000 *432] 1,200
401 AlEHIZL S0 100,000 20,000 80,000
01 Al&H| 100,000 20,000 80,000
0 == CCTV WAl 5,000,000 *42] 20,000
0 =3Xt o LEAAE 75 80,000
Hasdd &3 € &l 140,000 120,000 20,000
201 ger=3| 40,000 0 40,000
01 AtR2te|H] 30,000 0 30,000
0 s tola Xz 2,000,000& ~12& 24,000
0 24 D1 2283 7Y 6,000
02 S5=2g4l 10,000 0 10,000
02 Ul Sl €= 10,000
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FA AELS
X WSEEH
Sl WSTI EERE)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
401 Al HIZL 2018 100,000 120,000 20,000
01 A=l 100,000 120,000 220,000
0 HAsSZE &1 10,000,000 »8JH A 80,000
0 HAsZd RA2ci
1,000,000 2000 2~ 20,000
EHE R 3,504 3,504 0
201 Zet23 ] 3,504 3,504
01 AtR2telbl 3,504 3,504
0 HEH=SIXIA HIZ 3,504
LA 2R 180,000 180,000
307 212t01d 180,000 180,000
0 2=gAHEXS 180,000 180,000
0 otsHOIE ~ daln+2t 28 XA
25,000,000 & =43 100,000
0 &E ~ 2PDHEDIEF2t 2 K&
20,000,000& *43] 80,000
HA 22t 22 26,400 26,400 0
201 Zet2& ] 26,400 26,400
01 AtR2telbl 26,400 26,400
0 HALIRO0IE &1 24,000
0O HA EE22(HYE) M 2,400
nsdy 2ENA 309,897 304,929 4,968
101 e124d| 103,89% 98,928 4,968
M4 JRHHZ2Z2XSE+ 103,8% 98,928 4,968
0 2 EEAL- =Xl wWECHIRA IR
76,9603 x30E +30! 69,264
0 AUEHAL - =H nSHUHR IR (FY)
76,9603 x30E 102 +1.52] 34,632
201 Lt 175,401 175,401
01 AtR2te|bl 11,901 11,901
0 NSXSES2E MA 05 2 HaARESE 9,101
0 =&l 8,000 35041 2,800
02 S3=2g4l 150,000 150,000 0
03322 £ HMA 12,500,000& « 122 150,000
03 A2 I 13,500 13,500 0
LSS MM IS 22| 10,000
SHAFOHY WS HEXIE M=
500,000 #74] 3,500
202 044l 9,000 9,000
01 =LHO LI 9,000 9,000
0 =LHObI 150,000& 52+ 123 9,000
301 Et2 &= 21,600 21,600
11 HAIMHIXI R = 20,000 20,000
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FAN AZUSH
M NSEaEH
Sl WSTI EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0 FHl & AL WSSAHA &8 24 20,000
14 DBt 2 a3 1,600 1,600 0
0 NtSKt SgEESdl dNEYds
100,0002 * 16 1,600
Hsuszdst 303,362 260,606 42,756
101 ©1AH| 297,962 255,746 42,216
M ORNZZ2NSE S 297,962 255,746 42,216
0 HAQHY =<0 el2t| 297,962
oJdlEs 76,9603 x10F 312 240,116
0o FREFE 76,9603 x10H x52 40,020
0 BXIRZRYLY
76,9602 x10H 11 8,466
o 2HAlH] 3,000& %10 +312& 9,360
201 Eer23 | 5,400 4,860 540
01 At2t2lt] 5,400 4,860 540
022 72 180,000 x 102 +33] 5,400
wWSAES 2 700,000 600,000 100,000
401 AIEHIX S0 700,000 600,000 100,000
01 AlZH| 700,000 600,000 100,000
0 usalsI| €X & FH 200,000
0 WSOotA ZXE & NES=HHA £X 250,000
0 JIEtAIE = & RXIE4 22| 250,000
wSHH 2x=3 6,000 4,300 1,700
307 elztol & 6,000 4,300 1,700
02 2B YA E X 6,000 4,300 1,700
0 ot LY28Te] nsSetl & 2H el
S 6,000
AIHAEDIE 2t 23,000 20,300 2,700
307 @120l & 23,000 20,300 2,700
02 QB AANEE R 23,000 20,300 2,700
0 HAHOIE ket & eZ 3| 23,000
HIEHA 2 265,900 250,000 15,900
= 95,800
=S 47,900
s 122,200
301 EtE NS 262,300 246,400 15,900
[ 94,000
= 47,000
[Ea 121,300
4Bt 23 262,300 246,400 15,900
0 H=EA 2& 262,300
[ 94,000
= 47,000
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FAN AZUSH
M NSEaEH
Sl WSTI EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
09 2+AE2LS 402,874 361,000 41,874
0 BXcd a2d=s 402,874
= 110,293
< 26,007
[Ea 266,574
gAlel2 82 249,220 249,220 0
201 er23 | 249,220 249,220
01 At2teltl 249,220 249,220
0 EHAl 2/2t 22H1(103CH) 231,660
0 Al SE2=(88) M=
120,000 »103CH 12,360
0 E4Al AIEOHE ALY X1
200,000 = 15CH 3,000
0 EctE (=) AZEAl 222 MA
550,000 42| 2,200
NE2HA S2HHEY Bt 7,000 10,000 /3,000
= 2,100
= 1,470
= 3,430
301 EtE N = 7,000 10,000 23,000
= 2,100
== 1,470
= 3,430
14 JIEt2 8= 7,000 10,000 /3,000
0 NE2dA 28HA e 7,000
= 2,100
== 1,470
[Ea 3,430
SOHEHA WSIHE S2I| AIAE OHEALS 7,000 50,000 /43,000
201 er23| 7,000 0 7,000
2 52434l 7,000 0 7,000
0 WSIHE =2 AIAE S22+
7,000,000 *14] 7,000
SIS MIAHIRI A AL WEXZ 500,000 200,000 300,000
201 get=3y| 300,000 0 300,000
02 S3=gHl 300,000 0 300,000
0 AAE WSSH & == S 300,000
401 A2 HIRL R 0HbI 200,000 200,000
01 Al&H| 200,000 200,000
0 AAL HANEY WSAES EHl 100,000
0 AR AAIFIE EH 100,000
HAZEZAIAH(BIS) KAE+ 40,000 39,766 234
308 AIXIHHISOIA 40,000 39,766 234
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FAN AZUSH
M NSEaEH
Sl WSTI EERE)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
11 SIS0t 4 A AS A 40,000 39,766 234
0 HAZEAIAH(BIS) KA 40,000
sZE8 WERY(HAE) XY 300,000 300,000 0
[ 150,000
o 150,000
307 @120l & 300,000 300,000 0
[ 150,000
s 150,000
02 LB AANHEE 300,000 300,000 0
0 =Z8 nsRg(HAd) XA 300,000
= 150,000
T 150,000
S S4 ¢HME NEEE SEAY 26,000 0 26,000
= 13,000
Ea 13,000
401 AIEHIX R0 26,000 0 26,000
= 13,000
o 13,000
01 AlZ2H| 26,000 0 26,000
0 &2€ LD EXY &X
2,000,000 * 1304 2~ 26,000
[ 13,000
Ea 13,000
otz Nse wWSHA 2= 50,000 50,000
207 ARl 50,000 50,000
01 H1ESH| 50,000 50,000
0 otsz NsEuUsSHA JI2HE =8 89
50,000,000 x 14 50,000
SOHEHA gl 4243 N2 15,000 15,000
207 ARl 15,000 15,000
01 S| 15,000 15,000
0 2a2d=s &E 89
15,000,000 * 14! 15,000
TSNS M 1002 HA 50,000 0 50,000
307 lztol & 50,000 50,000
09 2s-AE2LS 50,000 50,000
0 1008 KA £A=243 50,000
CEeAHEH FHEL 2 AEAMY 26,070 0 26,070
= 15,642
o 10,428
401 AlZHIZ SO 26,070 0 26,070
= 15,642
o 10,428
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FAN AZUSH
M pESsEE
Sl WS8d (crel ®2l)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 26,070 0 26,070
0 C2XELH |AFF X ER(HES)
237,000 *110H 26,070
= 15,642
Ea 10,428
LS USIE At 1,500 0 1,500
= 750
= 300
Ea 450
308 AHXIEMSOIE 1,500 0 1,500
= 750
= 300
= 450
11 SIS0t A AS A 1,500 0 1,500
0 &2usSoHe X2 1,500
= 750
== 300
= 450
A0E WSAIAE 25 200,000 200,000
401 AIZHIZ SO 200,000 200,000
01 Al&H| 200,000 200,000
0 ADIE W& AA” A= 200,000
=y &R 890,675 1,368,240 NA4TT,565
s 250,000
s 640,675
SEFAY €X 390,675 968,240 A577,565
101 e124d| 47,871 45,436 2,435
M ORNZZ2NSE S 47,871 45,436 2,435
0 2833 =XE 22 47,871
oJlEs 76,9603 x2H 2482 38,173
o FEIE 76,9602 x2& x52& 8,004
o AXrErE 76,9603 x2& x 11 1,694
201 =3 42,804 42,804
01 At22t2l] 37,804 37,804
0 =888 =X X2
2,917,000& 128 35,004
0 =853 =X 2l 23|
233,300 x 122 2,800
02 S3=gHl 5,000 5,000 0
0 2WBH =NF MY PER 5,000
401 AIEHIL 2L 300,000 880,000 580,000
01 Al 300,000 880,000 580,000
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H ZEAIS (HEALY)

EUNGE
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401 Al HIZ S 0HHI
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250,000
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500,000
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A H
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3,028,000
1,794,000
453,200
780,800

2,775,000

253,000

Mo W

3,028,000
1,794,000
453,200
780,800

2,775,000

253,000

SOIXS A 70 K2

HoH W

840,000
350,000
140,000
350,000

1,200,000

360,000

402 SI2ERHE0I M

HH W

840,000
350,000
140,000
350,000

1,200,000

A360,000

02 QI R2AIS 2R (0IETHE)
i XA

12,000,000 +70CH

HoH W

840,000

840,000
350,000
140,000
350,000

1,200,000

360,000

&IIst= Xt FOHXIR

HoH W

2,100,000
1,400,000
300,000
400,000

1,470,000

630,000

0
J

402 SI2+X}

M

o

[
i

MW

2,100,000
1,400,000
300,000
400,000

1,470,000

630,000

02 RIENZAEE X (01 THR)

2,100,000

1,470,000

630,000
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FAN AZUS W
Hu: e N 243
el e NSk 2Es EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0 &JI=t= Xt FOHAIZ
21,000,000 *100CH 2,100,000
= 1,400,000
[ 300,000
T 400,000
HII0IEX 2SAHS 48,000 45,000 3,000
= 24,000
[ 7,200
Ea 16,800
402 QI2F X201 & 48,000 45,000 3,000
= 24,000
s 7,200
s 16,800
02 QI EASEZ(0IETHR) 48,000 45,000 3,000
0 HII0IEXE 700 X
1,600,000 *30CH 48,000
= 24,000
=S 7,200
s 16,800
HI=D| NEAS 40,000 60,000 20,000
= 20,000
=S 6,000
s 14,000
402 2I2F X201 & 40,000 60,000 /20,000
= 20,000
= 6,000
Ea 14,000
02 QI XHZ AL E R (01X THE) 40,000 60,000 /20,000
0 12| 700 XN
20,000, 0002 =2CH 40,000
= 20,000
= 6,000
Ea 14,000
HY2HHH(ALSH) 34,120 34,120 0
JlE2Zs(ALnsSH) 34,120 34,120 0
Jl=3H] 34,120 34,120 0
201 er23| 29,920 29,920 0
01 At2tltl 29,920 29,920 0
0 2N2E LB=Z2HI(SS)
560,000 x22&H 12,320
0 2A2E =LHI(S38)
8,0002 x22EH*100 17,600
203 =] 4,200 4,200
M FA2HARFAI 4,200 4,200
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